
Center #1 - Graph the integer and its opposite
1.  -2  2.  2 .5

3. -1.75 4. 100

Center #2
The points A (-4,2), B (L,2l1, C (1, -1) and D (-4, -1) are the vert ices of a f igure. Draw the f igure in
a coordinate plane, and then f ind the area and perimeter of the f igure.

Center #3 - Plot the ordered pairs.

a. A(2, -4) b. B(-3, -3)

c.  c(0,  - t )  d.  D(s,3)

e. E(-4,0) f. r(-s, l)
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Center #4 - Reflect the point in (a) the x-axis and (b) the y-axis
L (4 ,71 2. (2, -5)

Center #5 - Find a fraction or decimal between the two numbers

(-3.5, -2.5)
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Center #6 - Complete the statement using <, ), or =

1. -11 -]
3-  

-5

l-rz.sl

n 4- J -

7

F3 1,;] l+l t-f

3 ,.5- J -

9 Itl - l-rgl

6.5 .

_l _i"
3 3

*z*
to

-l-r sl



Center #1 - Graph the integer and its opposite
1. -2
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Center #3 - Plot the ordered pairs.
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Center #2
The points A (-4,2l1, B (I,2l1, C (1, -1) and D (-4, -1.) are the vert ices of a f igure. Draw the f igure in
a coordinate plane, and then f ind the area and perimeter of the f igure.
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a. A(2, -4)

c. C(0, -1)

e .  E( -4 ,0 )

b. B(-3, -3)

d. D(5, 3)

f. F(-s, 1)
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Center #4 -  Ref lect the point in (a) the x-axis and (b) the y-axis
1. (4, 1)

Center #5 - Find a fraction or decimal between the two numbers given.
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Center #6 - Complete the statement using <, )r ot" =
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